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64 90 110 140
48 130 270 560
60 160 330 650
! 7 50 140 300 550
10 40 100 230 450
20 48 130 270 560
A AT Nm 25 60 160 330 650
35 50 140 300 550
2 40 48 130 270 560
50 60 160 330 650
70 50 140 300 550
100 40 100 230 450
BAMEMET N Nm 1, 2 4~100 3fEEEH AR L
ik % 1 4~10 >97%
2 20 ~100 >94%
FERED h 1,2 4~100 20000
TIERE °C 1.2 4~100 -10°C ~ +90°C
BrtFER — 1.2 4~100 IP65
RETME = 1.2 4~100 [E3=valr|
1 4~10 1.1 2.9 5.4 11.9
HE kg
2 20 ~100 47 4.2 8 15.9
BN LR rpm 1, 2 4~100 5000 4000 4000 3000
BARBINZE rpm 1.2 4~100 10000 8000 8000 6000
RAZHAE Nm 1.2 4~100 125 235 430 1300
BiFHE D N 1.2 4~100 1050 2850 2990 10590
={E dB 1.2 4~100 <58 <60 <63 <65
o aremin 1 4~10 <3 <3 <3 <3
2 20~ 100 <5 <5 <5 <5
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64 90 110 140
0.14 0.51 2.87 7.54
1 0.13 0.47 2.71 7.42
0.13 0.45 2.67 7.14
10 0.13 0.44 2.67 7.03
20 0.03 0.13 0.47 2.71
HEiRE kg.cm? 25 0.03 0.13 0.47 2.71
35 0.03 0.13 0.47 2.71
Z 40 0.03 0.13 0.44 2.57
50 0.03 0.13 0.44 2.57
70 0.03 0.13 0.44 2.57
100 0.03 0.13 0.44 2.57




